THE ALGORITHM

The gradient of F };,)/ with respect to ¥ @ fixed qis

V;p© =~V RLO. (D) - RLO.(-V; D) + V5 gD
where

| JOXEY c(L)) V» PW),(—c))- Vv. g(l),

FrATURES

1) € The scattering data are ALk 955741, E Ny ,q € QF.

2) ¢ Superposition of limited aperture — multip]e views allowed.
3) 4 The cost function to be minimized is ¥ D7 [1/) v ]

4) 9 The unknowns are Y € W,q,, and ¥ € ([0, 2.z [)cardlCl,

5) The DiriciLer BC and the boundary to far zone relation are re—

presented by approximate forward propagation.
6) P, (L), R1, (L) depend on ¥ and on kq (not on ky).
7) IB’(L) } and {g(L)} depend on 1,-15 and on K, .

8) 4 Onl ly P, (L) has to be inverted; [P( ) ]"! Funconditionally.
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NUMERICAL RESULTS FROM F%), MINIMIZATION

Irswich files ips009/ipsQ09FV.*
Full aperture data obtained via reciprocity of A[k; ; @ ; v4]

MI9x4CA 1 0 = 4958681 +01 It.= 15
BU2I = 4256800 +03; | VD] = .2582421) + 05

{k;, 1<q<5}
L =12,1 =10
W)
Vil o
©)
(2
ME9xSCA ¢ 0 = .495868D +01 It.= 15
BIPl = 4858221 + 03 ; ||VB|| = .195682D + 05
MI9xSCA ¢ 0 = .409808D +01 It.= 15
B2} = 4948811 +03; ||VB]| = .177667D + 05
MFE9xSCA 1 0 = .450789D +01 It.= 15
BI21 = 51402013 4-03; ||VB|| = .195457D +05

MI9xSIEA 0 = 4958681 + 01 It.= 15
B = 46423110+ 03 ||VB|| = .537194D +05
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